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There was very much an international flavour to the 2005 Australian Open with 5 overseas players among the top 8 rated entrants.  Italian WGM/IM Elena Sedina beat off the challenge of four GMs to win first place & $4500 scoring 8.5/11 and becoming the first woman to win an Australian Championship. She was closely followed by GM Darryl Johansen (Vic), GM Carlo d’Amore (It), IM Hans Joachim Hecht (Ger), all on 8. Top rated GM Edvins Kengis (Latvia) finished on 7.5 but did win the Rapid Play event defeating Johansen 1-1, 2-0 in a play-off after they tied on 6/7.  The position below is from Johansen-Sedina, Round 6,  in which the championship winner (Black) plays a fine combination to secure the draw (7 moves):
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Scanning reports on the championship, I was taken by the following attractive game.  The winner, George Xie (NSW), one of Australia’s most promising younger players, emerges from a cramped position by forceful tactical play and takes advantage of his opponent’s failure to castle:




  MICHAEL  WEI   -   GEORGE  XIE



               2005 Lidums Australian Open, Rd 6 




                Alekhines Defence 



 1    e4  
Nf6  


 2    e5  
Nd5



 3    d4  
d6  


 4    c4  
Nb6



 5    exd  
cxd  


 6    Nc3  
g6



 7    Be3  
Bg7  


 8    Rc1  
0-0



 9    b3  
e5  


10   dxe  
dxe



11   Qxd8  
Rxd8  


12   c5  
Ncd7



13   Nb5  
Nc6  


14   Nf3  
h6



15   Bc4  
e4  


16   Nd2  
Nde5



17   Nxe4  
Nxc4  


18   Rxc4  
Ne5



19   Rc2  
Bd7  


20   a4  
a6



21   Nbd6  
f5  


22   Nc3  
f4!  




23   Bd2  
Nd3+  


24   Kf1  
Nxc5



25   Bxf4  
Nxb3  


26   Nd5  
Bxa4



27   Nb6  
Nd4 


28   Rc1  
Rxd6!



29   Bxd6  
Bb5+  


30   Nc4(a)  
Nb3!



31   Rxc2  
Bxc4+ 


White resigns(b)

a) If 30 Ke1, Re8+  31 Kd1, Be2+  32 Kd2, Nb3+  33 Kc2, Nxc1  34 Rxc1, Re6 winning.

b) 31 Rc2, Bxc4+  32 Rxc4, Nd2+.

Here’s another loss by a player not castling:



  
           REKKA   -  BOBRINSKY



                    Russia 1961:  Sicilian Defence



 1    e4  
c5  


 2    Nf3  
Nc6



 3    d4  
cxd  


 4    Nxd4  
e5



 5    Nb3  
Nf6  


 6    Bg5  
Be7



 7    Nc3  
Nxe4?(a)  

 8    Nxe4  
Bxg5



 9    Nd6+  
Ke7  


10   Bc4  
Rf8



11   Nf5+  
Kf6  


12   Qd6+!  
Kxf5



13   Bd3+  
e5  


14   Bxe4+!  
Resigns(b)

a)  Black’s idea is 8 Bxe7, Nxc3!  However his development now lags fatally.

b)  After 14...Kxe4  15 f3+, Kf5  16 g4#.

SOLUTION:  1...Nxe3!!  2 fxe3, Rxe5!  3 dxe5, Qxe3+  4 Kh1 (4 Kf1?? Nd2+) 4...Nf2+  5 Kg1, Ng4+  6 Kh1 (6 Kf1?? Nxh2#) 7 Nf2+ & White has to submit to a perpetual check. 

